Al o o 9 el = 2
E;C,?ﬂ""'ﬁo""
/'lo a (2/ / 0)
[a.Mo) _-;_a+z_,b+t= blo,1,2)
{]::-2-
2
T 1 ;?/-' @ - -5 xS
B nmopned Callal Lo il
f}cf%ws:%‘ o Rl X_(

Ca-{-—b)S_ (a*b)a(a—l-b) -\/ (3 2,1, o)j @_péy a-{-—é,_
B

[,2
[a 4204-+L)Ca+-{o) L (0/ 14

2
3 95+ab+qb+2%+b ol

fh=3) n=1

(
T3
(ate) = 5L
4
I o 2 1 4.V, 737
(a+b = A+ bt Lby a'ty a bk a "
| i me’g,?,p pLIN able b

W ‘ pusah
Ak Rl 21=2>)
31 = ax2x1.

Yo 41 less Hon Hee /’MJJEAM- 4) = AES' A {Q?CSJ
Y= 1-1=0 o lo | o faxTXS?c?xéx,ff
e i - T 12| 51 x;f'

il [ o—S)| 5_[)‘5-‘, .
YF Q ]M 1 . — 50 (I‘ )a rl = J,d'xq
g Pa
No-4 Feam= St1=6 ALN
9, ﬁ-—h
3
T

Coeﬂﬂ\er'a‘ef*“i— qth feam.

4
[M/b)f 1a§+§az‘b+foasb+aoa‘ b+5ab+ b

Caf_,i)
Homs _ Yy 5/}/



Lot ) | -
L4 :CO‘f';.i)

(=] e ]
%/‘-‘:- ()] A,‘S+ 5‘(_— — g - = /s:/jr/ o i
- of (5-0)| S [
r
Y=1L 2 5S¢, = ———-————5" = 5. s 5-?(4—!—:.: ol
U 1 s-01 | s 7
2
NG o s B | sxexet

& — 21 (s-2)] = z) 3! “zrst

A
4+ 5-C.3.:: 5] /._’ = to

E/f ExFan (z:u,t)z’ in alesreﬂwug povens c?,:c

aed  gplify e anaoer
n=h Ho-‘?, Frand =5

.f""
4 0
[zcm—i) = Zfco Q-ex)"(i) —~+ 46, C21)361)14— 45?_@%)261)2+
4C3QZSQ1(_1)S+ 4C (21)9(1)4;
,-FL‘Y&’i" ‘J”CXVV'Q =2 g
dom = 1
(§-Cfdv~0’ 4( i 4/ 14

Cofpaot: ez EAMEN
VIC =




== | L t b
(4

Cz;z+i)4 = Cﬁﬁ-’jﬁ- 4 C?:")g 7+ |6 (22’)2+ 4 (zz)i+ Ni

{512’4 3ixbd s4xf+ f=x+ 4]
—_—

= \
1+ |44 B4 ZA%Z+3213+(614 (M@"ﬂﬁ]/

—

—_—
p—

2
(BQCHL)TB:: 24’_33:5—,__ 21014 -+ (08013——?201 + 24073

V324
s

Constden  Hra Oﬂtfm’}ﬁ-row C% (Z+2)

A\

Gt) nte doon  Ae nuniben ﬁ{,hy\w )
e gq_Fngo-n- 6

"
34
YT e 3
(7+2) Z
T n=5
< 4 #; n-y= i)

x X x detel g

\_,5_% ST—32="
EEREEEE

L (I R







